F16ERFEENANERR—YXEHEER (FrEA)
T B [EyyiN K % EZNIEFAN=SAES =% 28 H #H | IERL SOE% S
E&mh 511 | KX F#k 5 224 528 [BEE fahis 1 2 4.05
E&Hh 512 |hIE &= E: [%E22 52% [BELE 100m 1 1 19.16
EHH 513 |22 H %k E: f%E19 528 [fEE Y7L 1 1 10.24 AEF
E5H 514 FE [E— B f=22 B2E [BEE Y -ILIR 1 1 16.42
E¥H 515 =— E; R B2 [BEE 100m 1| R
Ftodiil 516 [;tH AZEF T fE20 528 |BEE YIbR L% 1 1 11.62
B 517 [FH BT % fE7 28 [BEE YIMNE LR 1 1 13.74
E¥mH 518  |lUEFE Z* 5 72 528 (7534097429 3261 5m | 41 [ 1/5]21m15.71
EBH 519 m =5 E: 72 B28 (734097429 3ifi 5m | 40 [ 6/2 [10m66.4
E&HH 520 ﬁ,n fiE2— 5 fzE5 518 [EE 100m 1 1 20.43
EFH 521 548 SOF E=S [E27 F18 [BEE YIMNE LR 1 1 30.04
E&HH 522 ﬂ% BEX E:] fE4 528 [fEE STiEBk 1 2 1.12
E&h 523 |RE =i 5 22 B288 77409 T4R) 3ifu 5m | 40 | R
E&h 524 Elﬂﬁ FOiE 3 B%E20 528 [EE Y7k —LI% 1| 2 9.34
EFH 525 AR B— E; fE7 28 [BEE YIMNE LR 1 [ &
E¥mH X&E #MF E; 7K 19 188 |7kik B HE#Z50m 1 1 01:05.1
Pt oAl WX 52 ;! 214 F180 [SEBk 1 1
E&mH EH Eif E: 217 18 |2k 1 1
E&Fh ZE phY E=S 7K 21 18 [Kik BHA50m 1 1 50.59
EHH iRk MT z 74 52& [7-F1)— 30m-30myh-7" | 1 [ 2 5145
Pt adit] TR M2 5 29 5288 |SEk 1 1
K&h el FEF = 71 52%& |7-F1)— 30m-30mYh—7" [ 1 1 54552
E%mh BT 45— g 72 528 [7-F1)— 50m-30mYh—7" [ 1 1 44758
E¥mH = E; 529 528 | Sk 1 3
Pt odill =H B— E; B17 B28 [£Ek 1 1
E¥h Ak =2 5 T4 528 |7-F1Y— 30m-30mYh—-7" | 1 2 48455
E&m FRX RF = 72 528 |7-F1Y)— 30m-30myh—7 | 1 1 566 &=
E&Hm AL —F z /K8 H28 [Kik HikE25m 1 1 26.45
REh % RX 51 koa [ 528 [Kik THE25m 1] 1 42.79




F16EIRFEESANERR—YREHmBFER (FTER)
B |[Eyr NK £ MR | EA LXK 7| F R X 5 ¥ H B [IERT]  EOER &=
EHH 7EiE EE E; 512 528 |=k 1 | R
E&Hmh AH IEF i 214 5280 |SBk 1 2
E¥Hmh Nk FE 5 29 5288 | S5k 1] 3
=&Hh BER =8 i 23 5280 |SBk 1] 5
E%HH ALl =i Ef 54 528 |=5k 1 2
E%Hh EHE Rt E: k27 HE Kk V477425m 1 1 18.6 A=H
E&HH BEH BF E: k27 & [kik BHR25m 1 2 30.85
EHm b & i K27 FE Kk BEikE25m 1 1 37.9
E%Hh ER BBF¥ & | K27 TE Kk 1n575125m 1] 1 33.58 R
E%mh AR _E = K27 FE Kk FFi5kE25m 1 1 42.24
E&h WK 58 & [ k27 EE Kok BHEF50m 1 | 1 43.24 A=#
E&HH ERAKR HEn % K27 DE Kk BHE#25m 2 | 2 23.16
E&HH PN 2 k27 DE Kk BHE#25m 1 3 26.36
E&h xE B 3 K27 DE Kk FikE25m 1] 2 36.54
E&mh B &7 E: k27 HE Kk FikE25m 1 1 32.5
E¥%mh Hf BF 2 K27 BE Kk FikEFE25m 1 1 29.48
pSadit] ER FH z £18 HE |=EK 1 1
EHH ol = L £18 FF |SBk 2 | R
pSadit] INR B RER % £18 DE | Sk 3 | 2
E¥mh 535 |FeH St 5 22 BE 794U T 4R 3L 5m | 21 [ 8/3[14m60./6
Pt adit] 544 LU HK=E = 22 HE 773409 T4AY 3ifi 5m | 16 [ 5/1 [13m62.°7
EHH 530 |ARH & ] R FE |HKoULD D | 2 276
EHh 534 &y BftF | X A1 BE R T 1| 1 226
EHH 540 |&21L BEA E; R FE |HKoULy B | 1 271
ptodit] 531 [iEi& #— E: (228 % |[ELE 800m 1 1 02:23.4
Pt odit] 532 [db&t v 5 [E28 % [ELE 1500m 1 2 06:21.8
ptoditl 533 |ET B 3 [Z28 T |BEE YIM LR 1| 2 39.33
Fradin] 536 | &I & : (28 55 [ELE 400m 1 2 01:20.0
Pt dit] 537 |HA BHLK = [£28 5% [BELE 100m 1 2 18.12
E¥%h 538 |ILH X 2 f28 T |BEE YIM-LE 2 | 1 39.4
E%mh 539 |k B [ 228 % |[EE FEigBk 1 1 516
Ftodit] 541  |h#t X£3E z [£28 & [EL 200m 1 1 40.84




F16ERFEEAVNERAR—YREFHEEGER (FTEA)

TN K £ EENN A ET = 28 H 0 [E L SOE% S
il 542 & Ea oS k28 HHE [fEE 50m 1 1 10.32
il 543 m‘ HwE =S [£28 DE [BEE 100m 2 5 19.98
H 545 |HE &= E] [E28 ME |ELE 400m 1 2 01:08.3
il 546 EI% EE E=S f=28 FE [BEE 50m 1 1 9.23




F16ERFEEAVNERAR—YREFHEEGER (FTEA)

fr B [EyriN K £ EZNIEFAN=SAES =% 28 H 0 | IEfz SCER S
AT 631 BH &$ fE22 H2& |fELE 200m 1 x

AT 632 |/HI EER E: (%23 528 [EE 250—L 1 | &

AT 633 [hFH & E: %19 528 |FEE 50m 1 | R

AT 634 [k B Ei 24 52% [fBEE 1500m 1 1 05:42.9

AT 635  [A1%F AhZE E: (25 528 [BELE YIMNE LT 1 1 3257

AT 636  |Ek HF S %22 E1E8 [BEE 50m 1 1 17.21 RKEFH
WA =7 %E oS 7K 26 188 [7kk B HE#Z50m 1 1 36.08

AT b HE S 7k.26 F18 [Kik EikE50m 1 1 32.74 RKEFH
AT INE BS ;] 7k 16 F1E [kik B HF50m 1 1 01:19.7

AT AR & S 29 158 [EEBk 1 1

WATH XBE DITF = 51 528 =k 1 | R

AT BE A g2 7K 8 H28 |/Kik HHER50m 1 x

AT EiE B 5 7K1 B28 [Kik FikE25m 1 1 34.25

WA INeH EFEF| X 7K 6 B2& [Kik BHF25m 1 1 23.87

AT ¥H &% 5 k27 F4& [Kkik nN4757125m 1 3 33.89

AT =ikl ;] k27 55 [Kik BHF50m 1 2 37.48

WATH M E— E: k27 DE KK NE75450m 1 1 4332

AT MR — 5 7k27 DE Kk BHEFZ50m 2 3 41.14

AT N FE oS kK27 DE Kk EikES0m 1 1 48 43

WA #5f] IF2 ] K27 5 |Jkik BHE#Z25m 1 2 33.32

AT F=H EmE oS 518 THE |EBk 1 3

WAt EP.S E; 518 DE | BBk 3 1

AT 649 |[/NE BF oS 22 TE 7749 T 4R 3L 5m 18 | 1/1 [17m3379
WA 653 |&ELU IFE& F 22 HE 7749 T4AY 3L 5m 25 | 4/6 |17m36.71

AT 658 ||®R &M E: 22 TE (7934097 4AY 316 5m | 28 [ 4/5]14m80.73
AT 659 [ER FER 5 22 = 77499 T 4AY 3IfiL 5m 13 [ &

AT 677  [/MAIRE [AEk 5 22 PDE (7749 T 4RY IIHL Tm 11 | 5/4 [26m35.2
WA 678 [FAR £ S 22 HE 1774AV9 T 4RY 3L 5m 14 [ 3/1 [11m69,78




F16ERFEEAVNERAR—YREFHEEGER (FTEA)

mmE [EyriN|K j NN A A
e -z KT?ﬁﬁE r%!;u Bﬂ?ﬁ7l%‘1|Zn EE%H I % H 0 [JEGI] oSk BE
AR | 638 |AK EE N e sy N —T
AT | 630 |RE BIH | & | K AL a4 198
N 520 125 B= = i 0= :_:rblqu S | 1 181
N A Th 641 |AK == B 1 = 1;@,){ 7 R | 1 347
A 642|725 Pk RS OE 2ues O | 2 280
AT 643 |t FIE 1 R S U N 1 4 172
AT 644 [EZ 757 = | &1 T Lol ° 3 224
AATH | 645 |EE Eib B R o T 302
A T 646 [ BB &mA ‘ = i Mg P_1 314
oA 1 NS 7A 5 7R 1 DE Ry H
N N 647 |IXH B E: R 1 =& [FRH ST L | 2 141
e A BT e AT [ hE e NS 18
N AN Th 651  |=H &— & 1 ey i_lrj,{//]“ T | 2 170
AR | 654 [N & ERES HE ey R | 2 [ 220
NNt 655 3% FOE *x 1 e 1_?~r7,) 27 Q| 1 282
KT | 656 [m® T I aE L 119 2t
AT 657 |/NR R E: — E5 NP DR T | 4 118
AT 660 =% B E: 1 35 il O ° 134
RAm | 663 [KH ABF | & [ A1 P ML 168
NA T 664 |/DAk kx| B ) T 1;7,){ 7 Tl 3 163
A | 667  [dM A R e . 181
NN ] 671 1t Igx ; R :j:ﬂi :_\rbljijb P 6 171
A AT 674 I E— s - . AN D) Q | X

a 5 1 .iﬂi /\"7')_/7 P 4 197




F16ERFEEAVNERAR—YREFHEEGER (FTEA)

Fr B | Eys N K £ RN A ET e 28 H 0 [E L SOE% S
A TH 648 [l wEE ] fE28 TE (BELE YIN LI 2 4 18.91

N TH 652 |B# AEF =S [%28 54 [ELE 50m 1 5 11.3

NG 661 WE i X (=28 HE  [fEE 50m 1 6 16.42

A A TH 662 |WAK EF oS fE28 & [FELE 50m 2 1 10.74

AR TH 665 [BH #= ES [%28 HE [BEE 800m 1 x

ANATH 666 |HE EE 5 [E28 & [BEE 800m 1 1 03:34.5

A AT 668 [l BEH oS k28 T&E  [BFEE 50m 1 5 14.18

AN TH 669 /NN ETE i [E28 =& |[[EE 50m 1 6 17.79

AR TH 670 [i5%F IFE B [E28 5 [BEE 100m 1 6 21.29

A TH 672 [P BA#K 5 [E28 HE [EE 50m 1 3 8.68

A AR TH 673  |BR &T ;] [E28 T4 [BELE 50m 1 4 11.12

A A TH 675 |{FEE T L [E28 T4 |ELE 100m 1 3 17.36

A AR TH 676 |/KEF #F % fE28 FS4£ |BELE 200m 1 x

A A TH REATEREEERIUBS (TINEXA F—FR—)L 2 | 1 BE20
A Niil RETERBEEERIABS (T INEXB) F—krR—JL 4 |3 A& 1041




F16RIRFEENVNEFERAR—YREHHEIER (FFER)
Fﬁ E ‘|2°“J’7"JNO. EE 1 T NEYCAS ENTST L\
mE 7z ﬁmﬁ%j'j‘" régil Bsnbjbzlzn Eg]zl%r{: __ _1® B _ IR SCER S
L e z 22 E’ZEB 734‘/’7“3\47\7 Ifi 5m [ 18 [ 6/7 ] 8m82.70
L A 753 |MEH F— E; [E25 28 E?Zj:ﬁ‘/gﬁ‘?»ﬁi - 119 3ﬂ/z1 S
L@ 754 5 T B 57T 3) E
oL %Ju% %‘E ; ég ggﬁﬁ 77497429 3iff 5m | 40 | 1/3 [14m59./3
THEH %nEH 5 B [ K26 E’ZEB = 2 =
= 2 ;; x E’ZEB Kk EHH#Z50m 1 [ &
Fo B AT TR or i in i
THET = XF i 7K6 B o8 K T
= i Xt = X5 %zgﬂ %E}E B H#225m 1 2 01:10.9
LFHEM A F S K27 E&E Kk i i i
TEh B ot [ x| sis | &% Kd FokS2m T >
AT 759 £ = = R 1
LHD 159 ’Wi . % 32 i E 734‘/’7“3‘47\7 ifi 5m | 17 [3/2[13m80.6
~H 10 e o 27 iﬁ 7245’71\\41'7 Ifi 5m | 21 [ 6/2[16m77./6
L B 755 |iEiE X8 . h1 i ?l-‘?rgj'l}i A— Y -
LFHT 756 |ER B =] 28 =5 'FEJ:JJO P x
THH 757 |EB Z% E: 28 & L o — o
T 758 |T1N_Bik Z | fEos EE [BL oA — s,
e T e B B TE T Bss [ 42 [oT v B S
AT 762 Hf SPH 8 1;28 55 I;J: IR ; =
i T z = B % F 100m 2 | 4 29.49

Z %28 =4 [BEE 100m 2 | 2 16.46




F16ERFEEAVNERAR—YREFHEEGER (FTEA)

B |[EyriN K £ EFE NN BT ) # B #H O[NEfr| 8% &=
HAT 801 [Hi5 EHis 5 RE22 5188 |BEE YIbE MR 1 1 10.16
FAT 802 | K#0 IRE L; 72 H288 77409 T 49 3ifi 5m | 38 | 5/5 [15m25./6
EATH 803 |ILH =M B 72 5280 19749 T74A9 i 5m | 41 | 3/2 [14m85.3
EAT 804 |=iR EF 5 RE22 528 |BEE Y7rE-NIR 1] 2 14.74
FATH 805 |4 =& 2 BE1 528 [BEE JIMF-LET 1| 2 17.06
AT 806 [ILIFH #ET Z 72 H288 (77409 T 4R9 3ifu 5m | 22 | 9/9 [10m10/0
B AT 807 |dIg —F 5 72 H28 (77409742 Ifi 5m | 32 | 4/1 [16m38./7
FAT 808 |/hO F— E: fE21 528 [BEE Y eAyhR0- 1 1 9.92
EATH XiE RE : K27 F& Kk BHR25m 1 [ 1 26,00
AT 809 |TTHR ¥k 5 (228 HE [EE 1500m 1] 1 06:15.8
EA T 810 |fkfk B B B28 [ % [EE 200m 1 1 3 | 3336
e 811 |tk B x 28 F& [Pl 50m 113 10.05
BAT 813 |miE = ] (28 5F [BEE YIME-LIR 2 | 3 16.95




F16ERFEEAVNERAR—YREFHEEGER (FTEA)

T B [EyyiN K % EZNIEFAN=SAES =% 2 H 0 | IEfz SCER S
SREATH 831 FIE FE [ 22 528 (7534097429 3ifi 5m | 39 | 1/5]26m73. 4
SR ATH 832 |&3F| §RA 5 22 528 (754057429 321 5m | 36 [ 1/3][18m34. 72
SR EH 833 [BE®E ffx A 22 B28 (754097429 3ifpL 5m | 39 [4/7114m923
fRATH 834 |KTF &= £ 22 528 (7534057429 2L 5m | 40 [ 4/5][18m45.73
SRETT 835 [/IAk EEBH E: 22 B28 734097429 3ifi 5m [ 32 [ 1/4[17m34.4
fRATH 836 |HAM FE 5 22 828 (77409 7429 3L 5m [ 38 [ R

Sk Ah 837 [ZH HER [ 22 528 (7534097429 3161 5m | 37 [ 3/3]14m92 6
SR 838 |#ME EE 5 22 528 (734097429 31461 5m | 37 [ 6/4]118m60.5
fk A h 839 [HAK BB=E E; fEE1 528 |BEE YoM -LIR 1 [ &

SR A 841 hHEH —i 5 22 528 (7534057429 36 Im | 23 [ 1/1[30m40. 3
ik A h 842 [k —% 5 [£20 28 |[EL A 1 1 7.87

SR A 843 (s B2 E; [ 18 [BEE 50m 1 1 14.59
£k A 844 |BFH IEA 2 [E27 28 [BEE YIMNE LR 1 2 16.58
SR ATH BE A ;] 7k 20 18 Kok FikE50m 1 1 52.63 KEFH
fRET TE F B | 7ar2~8| B2& [7-FrY— 30m-30mavnmy 1 3 502 5
fRETH ERKRK E— ;] 218 5 |2k 2 3

fRETT KR Z7nI)L | B E18 5E |2 2 3

SR A fEFE F Rk E; 518 HE |[SBk 1 3

fRETH 869 |#%B #EA E: 71 HE (77409 T4A) ELL 5m 3 [2/2]10m03. 72
fRETH 861 TF &3 5 22 HE 774V T4ARY 36 Tm 15 [ 4/3[11m65. 72
SR ATH 862 [I® Rk 5 72 TFE [774AV9 T 4R L Tm 19 | 5/4 [21m49 72
SR A 863 [fMniE H=E 5 22 HE (7934097 4AY 32461 5m | 29 [ 4/2]14m50./6
SR ATH 864 [#iF H=iE 5 22 5 774AV9 T 4AY 3IfHI 5m 17 | 7/6 | 5m12/2
SR A 865 |#AR HH 5 22 HE 794V T4AY 3ibL 5m | 27 [ &

SR AT 866 [EMAN thia E: 22 HTE (79409 T 49 36 5m | 31 [ 4/2]18m76.75




F16ERFEEAVNERAR—YREFHEEGER (FTEA)

T B [EyyiN K % EHIENN=SA ET =S 2 H 0 | IEfz SCER S
fRATH 867 [MATF E% ;] 72 HE 774V T 4RY _3IfL 5m 32 | 5/2]15m46./5
SR ATH 868 [T EZE =S 22 5 774AV9 T 4AY 3IfI 5m 10 [ 9/8] 7m13.70
fk A h 870 |JEEE = % 22 PDE 177409 T 4R LI 5m 8 | &

fSRETH 872 [XKEF ;'z% E=S 22 TE [753409 7429 3 5m | 20 [ 5/2] 9m38.73
fk A h 873  |"MA 1F=E [ 22 HE 734097429 3261 5m | 27 | 3/2]13m38.75
fRATH 875 [&M FA 5 22 TE |77AY9 T 4AY 3L 5m 17 | 6/7] 6m79.1
Sk Ah 876  [hjE EH [ 22 HE 734097429 36 5m | 26 | 3/5[16m93 .1
fRATH 877 [tRE L& 5 22 TE [75409 7429 3 5m | 28 [ 6/6 |[10m34 .1
SR 878 |X&iR Hi E: 22 HE [793409° 7429 3168 5m | 27 | 2/3[14m46.73
SR A 879 |=i@ E 5 22 HE (793409 T4AY 326 5m | 42 [ 6/7] 9m15.70
£k A 880 |/NEE BT E: 72 T%E  |774V9 T (A9 LI 5m 34 | 4/5]13m00. 1
fRETH 881 [(RE &= F 22 HE (7934097429 3261 5m | 25 [ 6/3]11m00.73
R H 874 | KT HEF S 1 HE |[RH9Yry K | 2 125
fREH 886  [HNE #XA| E:] R 1 HE |ARHULT G | &

ik A h 887 7}<|:| ﬂa‘%rﬁ ;] 1 HE K9y E 4 179

SR A 845 [F =FE 5 [£28 HE [FEE 50m 1 2 8.22
£k A 846 1E/z7|< LAE ;! [E28 & |[BELE 50m 1 X

SR A 847 [FEE & = f=28 4 [ELE 50m 1 4 8.48

SR A 848 |lLO ##F % [E28 & |[BELE 50m 1 4 12.09
fRETT 849 [/h#k FER = [E28 FE [BEE 100m 1 2 14.87
fSRETH 850 |FF & E; [£28 S5 [BELE 100m 1 [ &

fRET™H 851 |#rR % E: (=28 FH |[EE 200m 1 5 35.41
SR ATH 852 [KTFT BB =: [E28 4 [EE 200m 1 4 34.34
SR 853 |B[E I E°8 28 4 [EEL 50m 1 2 9.71
SREATTH 854 |ILUE 15 e [E28 DE [EE 400m 1 3 01:13.3
fSRETH 855 |#mH EA = [£28 FE |BEE YIM-LIR 2 5 9.2
SREATH 856 [#f Eth 5 f=28 DE |BELE YNNI 2 7 11.96
SREATH 857 |db%p xhE 5 [£28 DE [BEE YIM-LIE 2 6 145
fRATH 858 |iBEK EE B fE28 DEELE VI -VIR 2 4 55.5

R Ath 859  [Fxm ZEmE S [£28 DE [BEE YIM-LIE 1 1 28.76
fRET™ 860 [ =E3= = [E28 HE [BEE YNV 1 2 7.25




F16ERFEEAVNERAR—YREFHEEGER (FTEA)

r B [EysyN K 4 R EA LXK S Emnli’\ 28 H 0 [E L SOE% S
fkHTH 871 A = E fE28 14 [BEE 50m 2 5 15.07

SR A 882 [fIHY EF [ =28 :::E fE E VIR LR 1 4 25.12

fk A h 883 [S#41 &l E; [E28 HE [BEE 50m 3 5 12.52

SR 884 [itim B E: =28 T |ELE 50m 3 4 12.07

fk A h 885 [FJIl HE &F fE28 HE |ELE SIhaBk 1 3 1.38

fRETH thEmEREEERARGS F—kiR—)L 2 3 &84




F16ERFEEAVNERAR—YREFHEEGER (FTEA)

B E |[EyrNK £ EZNIEFAN=SAES =% 2 H 0 | IEfz SCER S
AMEATH Ak HE ] 217 5280 (58K 1 | R

EATH B EF =S 217 B2& [£Ek 1 3

AT NO R oS k27 % |ksk BHE#25m 1 | &

REETH 922 |[HiE HABB E=S 22 HE 7749 T4ARY 3L 5m 18 [ 4/5[10m20.72

B:Ah 921  [[BK &= E h1 tE Koo P | 2 261




F16ERFEEAVNERAR—YREFHEEGER (FTEA)

FusriN| K £ EZNIEFAN=SAES =% 2 H 0 | IEfz SCER S

h 946 | XH £#F LS fE27 5228 [fEE ¥ eAYyhA0— 1 2 6.94
H 047 |EZE fEA& E: (%23 528 [EE 250—L 1 1 02:25.8
h 948 |Hft %= [ 72 B2 17749 T 4R _3Ifii 5m 38 | 3/6 |20m65.6
Gl 949 [hil EHER S 22 828 (77409 T4A) 3L 5m [ 20 [ &R
T 950  |#THI _Fk A 22 B28 (754097429 3ifL 5m | 35 [ 4/4]16m52 5
Gl 951 X0 T 5 22 528 (75340597429 3L 5m | 36 [ 6/4][11m32 .1
h 952 |FEiE REER [ 22 528 (7534097429 3161 5m | 33 [ 4/1]15m98.78
Gl 953 |i&iE A 5 72 528 (7534097429 31461 5m | 38 [ 7/414m326
h 954 |XxA 3T S k4 5228 [fEE Y7L 1 2 11.74
h 955  |LLIIRF R E; 4 528 |pEE YN -ILIT 1 [ &
H 956  |[EFT #E¥ S 4 528 [BEE YIbE - 1 3 10.54
h 957 |28 ZEHf E; [E27 528 |fEE YIMR-ILIT 1 1 21.63
[irl e ik 3 H213 Akl ER:: 1 1
Gt INE] & 5 214 528 (5B 1 | &
= =X —F = =17 R ER:: 1 2
T BA XEH ;] 524 528 |55k 1 1

ARt & DYF s 24 528 |5k 1 | &

ARt Al mF 3 B4 528 |2k 1 2

JAih B MR ;] B3 528 =Bk 1 3

ARt WO S 7k27 15 [Jkik BHF25m 1 1 33.55

aiRth Full GESR 5 k27 ME Kk BHER50m 1 1 4804

Al Y= g 518 5 [EEBk 2 1

BiRth INFR B EZ 5218 T | EBk 3 2

AR EniE ﬁll E: 218 HE  [EEk 3 | &

AR Al —i& [ 218 5 [SEk 3 | R

Al h bl = 3 218 5 |2k 1 2




F16ERFEEAVNERAR—YREFHEEGER (FTEA)

TN | K £ R EAL X S A _ _
5 3560 =% EE %fj EAL R Eﬂ‘{fg — 7“_\‘% B _ HER]  ah BE
5 061 |AK E8 5 25 e 724‘/7“3\4 I 5m [ 29 [ 2/1[18m82.77
i 962 |mF =4 E: =5 e z{g 7429 3Ifi 5m [ 30 [ 4/3]21m18/6
= 963 |Z) BEE= = 25 ::E 724‘/7‘\3\47\’7 I 5m [ 29 | 6/6[11m78./2
; 964 B0 AT | 2 2 4{’7,2“417 ST 5m | 26 | X
5 965 2% =7 z 25 EE 23497429 SIf1 5m | 10 | 4/56 [14m78./4
3 972 it BF = 25 e 234207429 SLf1 5m | 10 [5/6 [14m12.73
= 7 kA =E = 22 L 731‘/9“3\47\7 S 5m [ 16 [6/7[10m54.1
7 075 [N Bk 2 =5 e ;?4{2,,147\7 Tfi 6m | 31 [8/3[14md7.75
5 976 =K ST ﬁ 5% ‘:ﬂi 724\/ “'{“’fx7 iLﬁi om 27 1 7/6 | 3m890
i 977 _|#B33 BEF | % 52 e 243’7“3\47\7 Ifi 5m [ 12 [6/8] 6m78.0
i 978 |E@ ¥ X 25 ;EE 234507429 SIfL 5m | 14 [5/8 [10m25.70
1 ST T = 25 he 294457 4AY SIfI 5m [ 10 [7/2112m23.77
= 580 e % 2 22 LT 73’4(‘/)“147\7 Sif7 5m [ 27 [ 6/4] 9m36.73
AR o8 kA Bh 2 22 L 7243’7“3\41’7 fi 5m | 31 [6/5[15m85./2
BT 066 (wmL B3 2 5 g erb/l’{'r{?\’] L 5m | 13 | 4/5] 11m37/2
‘BIRT 967 |fExk BE 5 1 T s ,J{ 7 F | 2 208
AR 968  [kili HBEH E: 1 HE 1;'7,){ 7 E | 3 189
AR 969 [5i5 FH= & R LT TLZs G159 143
AR 958 |[BH FE 5 | [Eo8 e ';\EEJ‘/’J_ _ 1 | 4 133
thi;gﬁ 950 |l &% 1 JEos | & e+ ‘jgt';‘jtfn - Ok
AR 970 |hE B— 5 % , ey P2 IR s 4 9.54
A 071 $E% ;DE’E % = :ﬁ %ﬁi Uik L33 2 | 2 | 2633
Al 9073 [H#E Kig 5| Bos | B B S i 2 18 8.77
= £ B £ 200m 1| 1 26.54 K&




F16ERFEEAVNERAR—YREFHEEGER (FTEA)

B |EysriN| K 4 EENN A ET = ## H 8 | NEfz SCEX S
iETh 1011 |BR F5BH 5 5226 5288 [fEE 200m 1 1 02:283 | K%
VEETH 1012 (&)1l BBE 2 %26 525 |[BEE 1500m 1 1 05:30.9
EETH 1013 [l =& z I S188 |BEE 200m 1 1 01:39.2
ViR AH EFER [ % 59 528 |55k 1] 1

\EEth EH & B k18 H28 |Kik HikE25m 1] 1 01:08.1
\SETh & AR Z | =3 | Bomp (S ]

iETH EiR =B) 5 21 ER:EER: 1 3

= | 1022 |5k % B 2 FHE |J5{074R) Sfa 6m | 13 | 6/1 [7m80/10
INEETH 1014 /N &) & (%28 HE [FEE 50m 1 | R

INEETH 1015 |1hki% B EE (=28 F8& |BELE 1500m 1 3 07:09.0
INEETH 1016 |FBh IFA 2 fE28 HE [fEE 50m 2 3 9.06
INEETH 1017 |&%HE KA ] [E28 HFE [BEEE 50m 3 | 1 8.57
INEETH 1018 [BNIl =— ] [E28 H&E [BEEE 100m 1] 8 29
INSETH 1019 [HE #EF & (%28 &% |fEE 100m 2 | 2 25.88
INEETH 1020 |&5E B S (=28 545 |EL 200m 1 2 45.02
INEETH 1021 [ 5% 2 (%28 % [BEL 800m 1] 2 04:43.1
INEETH 1023 |[*B X 2 [£28 =5 |[BELE 50m 1 5 8.94
INEETH 1024 18]I EX g [E28 S |BELE 50m 1 2 8.01
INE T 1025 /NI B & %28 =% |[fEE 200m 1| 2 30.46
INEETH 1026 |15 fE% & 28 HE [EE YeAUyhan- 11 R




F16RIRFEENVNEFERAR—YREHHEIER (FFER)
r B [EyyiN K 4 RN A ET e 2 H 0 | IEfz SOE% S
EEGE 1056 | KR#t 1% E; f&20 28 [BELE YIME-LIR 1 1 25.13
FIHh 1057 |[EiE BHH £ fE7 S28 |BEE VeAl)yhA0- 1 1 18.26
FIH 1058 [1E]= ﬁﬂz,: [ 72 B2 17749 T 4R _3Ifii 5m 33 15/3]/14m30.6
FIH 1059 [FEFT Bt £ 72 B28 7749 T 4AY 3L 5m 36 [ &
FIH 1060 [#&/ FER E; 22 B2 17749 T 4R 3Ifii 5m 42 1 2/2 |[17m75./6
FIHh 1061 [FHE ?%% £ 22 528 (7534097429 3241 5m | 39 | 7/6 |12m91.4
FIh 1062 4T 3 E; 4 B2% [EE 50m 1 1 11.77
FEH 1063|718 %% 5 [E27 528 [fEE ¥ vAYyhA0— 1 [ &
FITH 1064 [#&)\ #nfE [ 22 B28 7749 T4AY 3IfHL 5m | 33 [ &
EEGE 2H #E 5 13 B25 [£EBk 1 1
FIRTH ®E EE S K2 B288 [/Kik n477425m 1 1 24.31
BRI LIEEDES B [7ar2~8| H2& |[7-F1)— 50m-30maynmY 1 2 4825
FEARTH dtE & ] 7K 6 528 [/Kik BHF25m 1 1 25.78
FE T 1065 [LLiFF =F0F =S 1 TE |ARoUVY J 1 198




F16ERFEEAVNERAR—YREFHEEGER (FTEA)

T B [EyyiN K % EZNIEFAN=SAES =% & H D SCER S
BN iR B AT S E; [E26 5228 [fEE vAYyhA0— 1 1 14.65

o iR TH 1097 |¥1H &5 £ 72 B28 7749 T 4AY 3L 5m 41 | 5/4 [11m45./2
EnsiEth 1098 [BE BX E: 22 528 (7534097429 3L 5m | 38 | 2/1 |21m72.710
EgriEmh 1100 | AT HKH £ 22 528 (754057429 3ifi 5m | 34 [ 2/3]18m18.76
EnsiEth 1101 /"My —F E: 22 528 (75340597429 3161 5m | 35 [ 3/2]18m62 7

Eys iR th 1102 |3+ HfE 5 22 528 (7534057429 326 5m | 31 [ 2/1[27m95.79

s iEth 1103 [#A%F ZE3k E: 21 B2 17749 T 4R FELL 5m 3 11/1]22m10/6

Eys iR th 1104 |/"MNE FE £ 21 B288 17749 T 4AY FELL 5m 3 | &

EyriRmh HE BEZ 5 B B258 [5EBk 1 3




FE16RRFEENNERAR—YREHEER (FTEAD
BT B |[EvriN|K £ TR [FEA VX 7| FEX 73 # B #H |NBfr| EoER 5%
b h 1146 [@F — BB E RE27 528 [EE 200m 1 | R
& 1147 | &7 ES 72 528 7734097 4A) 3ifa 5m [ 37 | 3/2[17m17./6
h ¥ 1148 |5K E£EF = 72 5288 [774Y9° 7429 i 5m | 16 | 1/3[24m47./5
h B 1149 |[%XK & i 72 28 (7749 7429 3ifi 5m | 29 | 1/3|32m85/5
ek adit] 1150  |[Hil EA % fE18 B1E [BEE Y eal)yhA0— 1 1 7.15
By NEE] E.E.qc % | 7ar2~8| B2& [7-F1)— 50m-30mavnmg 1 1 6105
R EFH R BE 3 214 S188 | S5k 113
Gakadit] fRiE & z k27 T Kk EHkE25m 1 1 30.24
b ¥ 1152 %X BFR E: 22 FE [774V9°T4AY 3IHi 5m | 17 [ 1/1 [483m67.76
P 1151 [dill 83 2 1 HE |RoULd E | 1 216
hEH 1153 /My FWH =z R 1 tF [HRoIvd J [ 3 131
HEh 1154 [BHEl S¥F = R 1 tE |RIULT K [ 3 61
ek it 1155 |okH AEF z [£28 HE [BEE SitEsk 1 2 0.54
h B 1156 |EH FOX z [228 HE [BEE YIM-LE 1|3 5.27
thEy T 1157 /MG 558 ;2 (=28 H% [EEE 100m 1] 2 17.26
h 8 h 1158 [liAd R&E 5 [£28 TF [BELE STiEBk 1 1 2.32




F16ERFEEAVNERAR—YREFHEEGER (FTEA)

r B [EysyN K 4 EZNIEFAN=SAES =% 28 H 0 | IEfz SOE% S
NI 1192 |#%% EX ;] 72 B28 [774V9 T 4A) LI 5m 39 | 8/3]12m71./6

NG HZE HBid =S 7K17 15 [/Kik B HF50m 1 [ &

KETTH 1189 |1t & ;] 22 TE 7749 T 4R _3IfiI 5m 13 17/71 7m37./0

KHET 1190  [dFfT OAE S 22 DE (7749 T 4RY IIfHL 5m 8 | 2/3]17m29.74

KETTH 1191 [Af =X % 22 BE 7749 T 4R _3IfiI 5m 10 | 2/4[19m15.6

KHETTH 1186  [ZH HF X (28 T |ELE 50m 1 3 11.47

PN 1187 IUAX & S [E28 FE [fEE 100m 1 1 17,00

KHET 1188 |[BBik K&k L f£28 F4 |BELE 1500m 1 r

KETTH KL X B AREHANEEUGS ' —kiR— 4 2 BEo




F16ERFEEAVNERAR—YREFHEEGER (FTEA)

T B [EyyiN K % EZNIEFAN=SAES =% 2 H 0 | IEfz SCER S
gL 1206 [PTH H— [ 22 528 (7534097429 32461 5m | 27 | 1/1 ]41m94.-10
ALY BiE 2 G 218 HE (=8 2 | R

fRILTH 1213 [A{RH & % 22 H&E 7734097429 36 5m | 22 | 6/4[12m33.74
fRILTH 1214 [iER = ] R i AL D Py G | 1 186
fRILTH 1215 [KBA 20»F| X 1 HE [RAH) sy K | 4 42
Bkilth 1207 [BEXK X s (28 5% [EL 400m 1 1 01:15.6
BRI 1208 |HR BE ES [£28 TE  (BELE YIN LI 2 6 12.59

B LT 1209  |FEH #REE £ [E28 HE [BEE YNNI 2 | &

fRLLTH 1210 [ER EF 5 (%28 T4 |ELE Y- IE 2 4 18.91
PG 1211 |FHW =7 5 [E28 HE |[EEE 100m 1 5 19.91
AlG 1212 [#HE ZFK=E 5 [E28 T4 |BELE 200m 1 2 39.53
frLH 1216 [Fik IEE 5 [£28 H4E  [BEE 100m 2 4 20.14
G 1217 [F1A_38A E: (%28 HE [BEE YIM-LE 2 7 9.39
frLH 1218 [/MR $R%&E F [%28 FE |BEE YIM-LIT 1 6 13.08
A 1219 &£ FE % (%28 HE [EE 50m 2 5 18.75




F16ERFEEAVNERAR—YREFHEEGER (FTEA)

T B [EyyiN K % EZNIEFAN=SAES =% 28 H 0 | IEfz SOE% S
Ed i INE EF ;] B215 28 | YO RT—JILT=X 1 2

Ed il =R T 5215 528 [YOUFT—2ILT=X 1 3

*%Hh XE BE— E; 510 H28 |SEBk 1 1

*H™ BEF B £ 7k6 B2& [/Kik BHF50m 1 [ &

*%Hh =1 E; 518 55 |Ek 1 3

*>Hmh INK B3R 5 518 TE  |SBk 2 2

EZ i 1244 [FAE £LZ % 72 HE (7749 T 4R 3Ifii 5m 18 | 3/3[12m70.3
*>%Hmh 1245 [/DHY BEE E=S 22 HE 7749 T4RY 3L 5m 12 [7/2] 6m21./74

ZEBH 1246 [ = 5 22 BE 7749 T 4R _3IfiI 5m 13 1 8/6 | 6m99.1

*H™ 1247 |[¥0H 5§ F =S 22 HE (793409 T4AY 3261 5m | 22 [ 3/5]16m5273
>5Hh 1248 |4 #2ZEF S 22 HE (753405 74AY 356 5m | 22 [ 7/3]10m59./5
25t 1239 [/ME RFEL 5 1 TE |ARoUVy Q| 2 260

ZEBH 1236 [&# FHEH =] (%28 F4 [ELE 100m 2 | &

*H™ 1237 |85 AZE S [E28 FE [EE 50m 1 4 10.59

e 1238 [dAly EE E: [E28 HE |BELE YIMN-LE 1 1 46.33

25t 1240 |KE &= F [%28 FE |BEE YIM-LIT 2 6 8.65

F¥Hmh 1241 M B % [E28 HE |fELE 100m 1 2 15.44

25t 1242 (M K = f=28 HE  |ELE 100m 1 1 11.89 KEFH
F5mh 1243 |FHE BR E; [£28 T&F |BELE 100m 2 1 18.67




F16ERFEEAVNERAR—YREFHEEGER (FTEA)

Ty N K £ HRIEANE N EBRRX S - - _
i 1271 [Hll #EY r; J Bib[getz(l): “ ES}“Z%[{’ BEL g B #H[JEf]  SoSk EE
i 5 T 5T E © E— 12 [ 837
) EAN 7 | 21 74 | B2E [7-F0~ 30m-30mlAi—T L -
E — 2% & 2 k27 EE’#': KK Y e 1 62052
1 s GRE | & | ko7 ST E o L+ 1914 |RRH
il & = ] K27 :IEQE 7Kk \QIEEﬂ:/25m 1 1 36.9
7 B S0h AT =18 i %’I’; F 5k E50m 1| 1 46.39
1 1274 |58 1& 5 72 EZEE 29409 T 4R 3 T
i 1276 |/NZ f64¢ E; 52 R T vifi 5m [ 21 [7/8[16mi8/2
i 1278 [Bd {#mh 3 72 T 24\/ T4AY Jfa Sm | 17 ] 5/4 | 6m98.73
7| 1280 |[ET 57 Z 1T 92 ST i adr 0t LA K
7 1281 |60 BEF | & 72 prer=3 7?15 TT4A) 3ifa 5m | 14 | 4/4[10m87.72
i 1282 [AL BF I HEF 199407749 Jfa 5m ] 16 | 7/6 |10m48 /1
= HHE 22 HE |794V9T4RY 3IfL 5 1
il 1285 |F#k FE 5 2 =% =T Ll 9m 2 [1/4118m54.74
i | 1273 [RE = R BE LI 70 T Tm 116 1078 [14m0d.72
i 1289 |=iR_18iC = e B 6 120
T | 1200 2T oA N |2 295
E 1202 |h% MAEL | 8 | K1 R RS O | f 313
7| 1212 |AB FIE 21 Tess | =5 (B w0 M1 241
i 1275 /NS IEZ0 : Eog %E ST 108" 1] 1 7.95
i 1277 _[B&IR :jﬁﬁaj B | [£28 S =& E 200m 2 | 3 19.28
i 1279 |=R E % ) S % = 400’“ 1 6 36.29
1 1283 [=)I BERE E: E08 ZE EL Y r?“— - 1] 1 02:16.6
SRR S A LN T a1
L 1288 [H.E EBE B[ K28 HE [BEE 800m 1] 1 028:33 6




F16ERFEEAVNERAR—YREFHEEGER (FTEA)

BT B [EyFiN|K £ ERA AV D ERBX S -
e T e EE 1 o] B [ s EE T e R s
i%?i 1317 |Rik RE—H| B @4 E_(zgrs IEJ; fé;ﬁ;»h } 513 22
it 1318 | aA& F gb [Pt MEAIY
T el ;@K J?ﬁ g 33 gﬁgﬁ 23479 749 ILfE bm | 38| 4/2[16m96.8
T LR 22 : 2 £ 18 757{/’7747\7 SIfE 5m 9] 3/3 [11m091
Fh A& Sk T o e i
THD G . z [ Xa7 e KK FiKE25m 1 2 46.87
e TR = a2 AL ggK HHE#225m 1] 2 4523
T 2% B 18 | &% |on %
m 1323 |IMMA B8 = . — —
T ;\wﬁj g&__ﬁ i 22 ig 234/ F 429 SLfE bm | 25] 2/4]23m46/2
TEm 90 AL SRE = EE e 234Y9T4RY 4L bm | 141 8/5] 8m14. 1
T o am 2 2 22 i 27AV9T4RY 4G 5m | 14]6/2| 9m95.77
TEm 1520 Al £ 2 EE L 23427 T4RY 4L bm | 17/ 4/5[11m65./3
e e 12k Bt = e = ?;1/’]741’] {2 5m 18] 5/4 | 9m82.72
Fem | 1320 [HH —if e e T e o i 4 AL
FeiTh 1321 |iI¥H &5 E ];28 E{EE ;;E:J: :/?Fﬂ'tl—)bjfx 22 16.47
T e A Az Bl Y yAT)yhR0— 1 1 22.09 XEH
T 1324 AR =fF & | 228 5 (BL o 243 25
o 14 Al 2 —_— or Bt Yy~ T)yhR0— i 1 8.46
Telh 1328 [/NEE BAE ] %28 ig =L Tk AR 18.23
Feith 1330 [FEiE DihFE * ;28 /T\E };E:_]: 120m 2 4 20.36
Fehihn | 1331 |BE & 5 & T 0 14202
2 BE28 54 [FELE 400m 1 3 01-:30.2




F16ERFEEAVNERAR—YREFHEEGER (FTEA)

T B [EyyiN K % EZNIEFAN=SAES =% 2 H 0 | IEfz SCER S
EATH 1346 |[1RE & E: [E24 528 [fEE 1500m 1 2 06:17.1

{EAT 1347 [®%8 BE=x 5 1 5288 [ELE TiEBk 1K 1.99

EAT™H 1348 |B T Al [ B 525 [BEE 100m (1K 16.5

{EAT 1349 B & [ 7 528 [BEE YN LT 1| 1 21.46

EAT 1350 |HH 5 [ 22 B2 17749 T 4R 3Ifii 5m 30/ 1/5]30m04.3
{EATH 1351 [HLR [E2% S 22 B288 7749 T 4AY 3L 5m 16| 2/5 [20m30.75
EAT 1352 [/Mk E [ 22 B288 17749 T 4R 3Ifii 5m 30] 3/1 [22m67.78
{EATH 1353 [HiE F— 5 72 B288 7749 T 4AY 3L 5m 31 5/7]16m51 .70
{EAT™H 1354 [fE 12 E; [E23 518 [fEE R5SO0—L 1] 1 01:56.1

EATH N E 3= 33 S 7K1 525 [Kik BHF25m 1| &

EAT 1356 [EKR ZBK 2 72 BE  [774AV) T 4A) L 5m 21| 2/5 [26m11 74
EATH 1357 ,iJII thth 5 72 FE 774V T4AY 3L 5m 13| 3/3]14m70./6
EAT 1359 [ExR & 5 22 BE [774AV) T 4AY L 5m 17 &

{EATH 1361 IJ.IEEI thX ;] 22 FE |77AY9T4AY _3IfHL 5m 171 8/8 | 2m66.0

iEAT™ 1363 |HHE F&E 2 72 TE [774V9 T 4A) L 5m 31[ 3/7[19m55 70
{EATH 1364 [/M#R Rk L 22 HE 7749 T4ARY 3IfHL 5m 25 7/7] 8m33.70

{EATH 1371 [{E R ;! 22 DE 774V T 4RY I Bm 9] 2/4 [12m72./1

{EATH 1358 [HH XXHH 5 R TE KoYy E 2 205

{EATH 1360  [FrE Rl 5 1 5E |[RK9Yry D | 6 128

{EATH 1362 | #/iT = R TE |[RKoUvyT K | 1 143

EAT 1365 RN XAk ;] 1 5E |[RK9Yry B | 4 198

At 1366 [fElR AIZh £ 1 TBF |hoUry I 6 68

{EATH 1367 |fhiE £:4 =: R HE [RHyYLsy F| 3 165

EAtH 1368 |#aJIl #=50 E: R 1 TBE |hoUrT c | 3 200

{EATH 1369 [FIR [F 5 1 5E |[RK9Yry D [ 3 252

EATH 1370 |#il8 HFW = R DE (RO YT H | 3 110

{EATH 1355 |#H HFE E: [E28 TE |BEE SIiEBk 1K 2.41 KEFH
EATH 1372 [{&#& #ho 5 15'528 S [[EE I1EBK 1| 4 1.26

EAtH EATERELANERIBE F—rik—JL A 5 &14461




F16RIRFEENVNEFERAR—YREHHEIER (FFER)
T B [EyvyiN K % EZNIEFAN=SAES =% 2 H 0 | IEfz SCER S
EXn 1401 [HH —= & 22 B28 (754057429 3ifL 5m | 33 [3/5[18m45.5
BiETH 1402 |75 =5 £ 72 528 (754057429 3L 5m | 39 [ 3/4]15m91.5
Xl 1403 [#R =T % 22 528 (7534097429 3L 5m | 24 | 1/4]18m83 71
E i 1405  [HR /X £ 22 528 (734097429 31461 5m | 40 [ 2/6 |[13m68 2
EX il 1406 /ML 73 E; [ZE4 B28 [BELE YIMNE LR 1 x
EXhi 1407 |5 HEF E=S 22 528 (754057429 326 5m | 22 [ 2/6 [18m09.73
EXin 1408 [;B/K _FHH [ 22 B28 7749 T4AY 3IfHL 5m | 35 [ &
EXin 1409 |EH HE 5 72 828 (77409 T4A) 3IfhL 5m [ 34 [ R
HiHh 1410 [3k[E ENI o8 22 B2E (734097429 3ifL 5m | 24 [ 4/2]10m26, 72
BiE™H 1411 /MR = E; 72 528 (734097429 31461 5m | 26 [ 5/4|16m24 /2
EX il MHE AEF S 7k 16 5228 [Kik BHEF50m 1 1 01:14.1
HiHh HLR &E&F T 23 528 |2k 1 | &
EXi il D 'R E:] k27 FE KK N477425m 1 2 28.52




F16ERFEEAVNERAR—YREFHEEGER (FTEA)

T B [EyyiN K % EHNIEFAN=SAES =% 2 H 0 | IEfz SCER S
Z=%mh 1441 iR 8% B [[E25 52 [BEE 1500m 1 1 07:45.8
Z=5mh 1442 |[fEE& 05 g8 [22 528 (754057429 1L 5m | 28 [ 1/1[34m54. 6
Z=HH 1443  |[&0O =& B [[E19 18 [BEE YA yha0- 1 1 5.68
Z=%mh 1446 |5%F B¥ 5 |kE7 528 [FEE VeAl)yhr0— 1 | &

Z=%mHh 1448 [0 EE B |27 528 [BEE YeAyha0- 1 1 2448 | K£¥H
Z=8h 1449  [&1L 3/F # |BE27 528 [EE YIME-1IE 1 1 16.01
RERh 1451 [/ BE B [[E22 S280 |PEE SrtEsk 1 1 1.8
Z=8h full EEE CHEER 528 |25k 1 3

Z=%mh il e 8B |74 H2& |7-F1Y)— 30m-30mYh—-7" | 1 1 58851
Z=%Hmh X5 &) CHES 528 | Sk 1 2

Z=%mh [FiE M B |[7ar2~8 | B2& [7-FrY— 30m-30mavnmy 1 2 56251
Z=%Hmh 2B §hE 8 k27 FE  |Jkik BHEF50m 1 3 4703
Z=8h AT _FIFE 5 [)k27 FE Kk BHEHFZ50m 2 1 30.88
Z=8h BH #ixE Z |E18 DE | SBk 2 [ 3

Z=%mHh & fBR 5 218 5 |2k 2 2

Z=%Hmh M BEE Z [5218 DE | FBK 1 3

ZEHH 1454 =R =& x |72 HE [774Y9 T 4R L 5m 12 [ 8/7] 5ma1./1
Z=%mh 1463 [t X&E 8 [22 HE 774V T4ARY 3IfHL Tm 19 [ 2/5]31m29, 2
ZEHH 1465 |=H #EIE 8 |72 HE (77409 T4A) 36 5m [ 30 | &

Z=8H 1467 [JbZ IET g |72 HE (734057429 3261 5m | 29 [ 5/4[12m65.73
Z=%mh 1468 |[BHE XF i |72 TE 7749 T 4R 3L 5m 12 | 5/3] 8m39.74
Z=%mh 1469  [B FIF0 8 [22 HE 774V T4ARY 3IfHL Tm 19 [ 6/2[19m46.74
Z=%mh 1471 |/hEMR E I (T2 TE 7749 T 4R 3L 5m 12 | 2/1[16m43.8
ZEHH 1473 |#@5 8% g [J2 HE (734097429 3 5m | 27 [ 9/5[10m55.71




F16ERFEEAVNERAR—YREFHEEGER (FTEA)

BE [EyriN|K & B [EAX 7| FhE X 5 # H #H [IEfL|  ECER 5%
REHH | 1453 [fhEE & |71 5E R 2d S| 4 47
Z=%mh 1455 |BE/R K B[R HE [KUD Pl 5 177
ZEHH 1457 (=@ & B |h1 BE R0 T N [ 1 313
=z 1460 |fiR (= 5 |1 HE KU D R| 3 189
ZE%HH 1464  [BBR ZHKF & |7R1 fE K0T T |5 92
e Ladin 1470 |[§# F7] B &1 FE |[HK2UD o[ 4 203
RETm | 1456 |[RB Xk 5 [FE28 E& [EE 400m 1R

=z 1462 |F4<H7 BX B |28 EF [BEE YIME-LIR 1] 5 24.05
ZEHH 1466 |BEH FOF % [[E28 HF |BEE STtEBk 1 1 0.94
EeEa it 1474 | K&y 5ABH 5 [[E28 HE [BEEE 50m 1] 5 12.77
ZEHHh 1475 |f8iR #HRWE Z |pE28 & [BELE 50m 2 | 4 15.69
ZEHH 1476 |F=K 1EA % [FE28 T4 |fBEE 50m 3 3 11.94




